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Question

1. Find the mean deviation from the mean for following

the data 4, 7, 8, 9, 10, 12, 13, 17.

Watch Video Solution

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_SmclJyAygfcd
https://dl.doubtnut.com/l/_CAH2uUYDxNKB


2. Find the mean deviation from the mean for the

following data. 38, 70, 48, 40, 42, 55, 63, 46, 54, 44.

Watch Video Solution

3. Find the mean deviation about the median for the

data: 13, 17, 16, 14, 11, 13, 10, 16, 11, 18, 12, 17.

Watch Video Solution

4. Find the mean deviation about the mean for the

data: 

https://dl.doubtnut.com/l/_CAH2uUYDxNKB
https://dl.doubtnut.com/l/_XLxHMIUGjG5O
https://dl.doubtnut.com/l/_hdIvcM74lJxO


Watch Video Solution

5. Find the mean deviation about the median for the

data: 

Watch Video Solution

https://dl.doubtnut.com/l/_hdIvcM74lJxO
https://dl.doubtnut.com/l/_pZYwF0a1o5j4


6. Find the mean deviation about the median for the

following data:

Watch Video Solution

7. Find the mean deviation about the mean for the

data :

Watch Video Solution

https://dl.doubtnut.com/l/_iGNT3eTervH9
https://dl.doubtnut.com/l/_uDjMR9cW3wEc


8. Find the mean and variance for the following data: 6,

7, 10, 12, 13, 4, 8, 12.

Watch Video Solution

9. Find the mean and variance for the following data:

first n natural numbers.

Watch Video Solution

10. Find the mean and variance for the data:

https://dl.doubtnut.com/l/_hz0ivxZTuavw
https://dl.doubtnut.com/l/_LTAUfzWSzeib
https://dl.doubtnut.com/l/_GQpY552vCdZn


Watch Video Solution

11. Find the mean, variance and standard deviation for

the following frequency distribution: 

Watch Video Solution

12. Calculate the standard deviation and mean

diameter of the circles (in mm) drawn in design are

given below: 

W t h Vid S l ti

https://dl.doubtnut.com/l/_GQpY552vCdZn
https://dl.doubtnut.com/l/_Yp96R6lFmMcK
https://dl.doubtnut.com/l/_VNqu8dnnaGFM


Watch Video Solution

13. An analysis of monthly wages paid to workers in

two firms A and B, belonging to the same. industry,

gives the following results: 

which firm A or B pays larger amount as monthly

wages ?

Watch Video Solution

Firm A Firm B

Number of wage earners (worker) 586 648

Mean of monthly wages Rs 5253 5253

Variance of the distribution of wages 100 121

14. An analysis of monthly wages paid to workers in

two firms A and B, belonging to the same. industry,

https://dl.doubtnut.com/l/_VNqu8dnnaGFM
https://dl.doubtnut.com/l/_3Py01rdW3RIj
https://dl.doubtnut.com/l/_Kq20C2iZMq4P


gives the following results: 

Which form A or B shows greater variability in

individual wages ?

Watch Video Solution

Firm A Firm B

Number of wage earners (worker) 586 648

Mean of monthly wages Rs 5253 5253

Variance of the distribution of wages 100 121

15. The following is the record of goals scored by team

A in football session. 

 


For the team B, mean number of goals scored per

match was 2 with standard 1.25 goals. Find which

team.may be considered more consistent ?

Number of goals scored 0 1 2 3 4

Number of matches 1 9 7 5 3

https://dl.doubtnut.com/l/_Kq20C2iZMq4P
https://dl.doubtnut.com/l/_8lD1xvw1JGyI


Watch Video Solution

16. The sum and sum of squares corresponding to

length x (in cm) and weight y (in plant products are

given below:

Which is more varying, the lengths or weight?

Watch Video Solution

50

Σ
i= 1

xi = 212,
50

Σ
i= 1

x2
i = 902.8,

50

Σ
i= 1

yi = 261,
50

Σ
i= 1

y2
i = 1457.6

17. The mean and standard deviation of 6 observations

are 8 and 4, respectively. If each observation is

https://dl.doubtnut.com/l/_8lD1xvw1JGyI
https://dl.doubtnut.com/l/_vk2WLEwUGYhA
https://dl.doubtnut.com/l/_ujp7CGexxfrk


multiplied by 3, find the new mean and new standard

deviation of the resulting observations.

Watch Video Solution

18. Given that  is the mean and  is the variance of n

observations  Prove that the mean and

variance of the observations  ax

are  and  , respectively, .

View Text Solution

x̄ σ2

x1, x2, x3…xn

ax1, ax2, ax3…axn

āx a2σ2 (a ≠ 0)

19. The mean and standard deviation of 20

observations are found to be 10 and 2 respectively. On

https://dl.doubtnut.com/l/_ujp7CGexxfrk
https://dl.doubtnut.com/l/_pZLWeuvpW5mT
https://dl.doubtnut.com/l/_Hwqbh2PLO1FG


rechecking, it was found that an observation 8 was

incorrect. Calculate the correct mean and standard

deviation if wrong item is omitted.

Watch Video Solution

20. The mean and standard deviation of a group of 100

observations were found to be 20 and 3 respectively.

Later on it was found that three observations were

incorrect, which were recorded as 21, 21 and 18. Find

the mean and standard deviation if the incorrect

observations were omitted.

Watch Video Solution

https://dl.doubtnut.com/l/_Hwqbh2PLO1FG
https://dl.doubtnut.com/l/_FLADnTuKJrtk
https://dl.doubtnut.com/l/_f61oRkOShUM1


Multiple Choice Question

21. Find the derivative of the following 

sin3x + tanx

Watch Video Solution

22. Find mean deviation about the medium for the

data: 

Watch Video Solution

https://dl.doubtnut.com/l/_f61oRkOShUM1
https://dl.doubtnut.com/l/_6csk4yeuNQUx
https://dl.doubtnut.com/l/_M0hc6d6GhaIU


1. If the mean of the set of numbers  is ,

then the mean of the numbers  is

A. 

B. 

C. 

D. .

Answer: B

Watch Video Solution

x,1 , x2, ...xn x̄

xi + 2i, 1 ≤ i ≤ n

x̄ + 2n

x̄ + n + 1

x̄ + 2n

x̄ + n

2. If the mean of numbers 27, 31, 89, 107, 156 is 82, then

the mean of 130, 126, 68, 50, 1 is

https://dl.doubtnut.com/l/_M0hc6d6GhaIU
https://dl.doubtnut.com/l/_z1wQJ9SGCN6S


A. 75

B. 157

C. 82

D. 80

Answer: A

Watch Video Solution

3. Mean of 100 items is 49. It was discovered that three

items which should have been 60, 70, 80 were wrongly

read as 40, 20, 50 respectively. The correct mean is

A. 48

https://dl.doubtnut.com/l/_z1wQJ9SGCN6S
https://dl.doubtnut.com/l/_naF4fvToc0Vc


B. 82 

C. 50

D. 80

Answer: C

Watch Video Solution

1

2

4. The number of observations in a group is 40. If the

average of first 10 is 4.5 and that of the remaining 30 is

3.5, then the average of the whole group is

A. 

B. 

1

5

15

4

https://dl.doubtnut.com/l/_naF4fvToc0Vc
https://dl.doubtnut.com/l/_0qqixR1dvXUl


C. 4

D. 8

Answer: B

Watch Video Solution

5. A set of numbers consists of three 4's, five 5's, six 6's,

eight 8's and seven 10's. The mode of this set of

numbers is

A. 6

B. 7

C. 8

https://dl.doubtnut.com/l/_0qqixR1dvXUl
https://dl.doubtnut.com/l/_MXAGoBGCxYMX


D. 10

Answer: C

Watch Video Solution

6. Which of the following is not a measure of central

tendency?

A. Mean

B. Median

C. Mode

D. Range

https://dl.doubtnut.com/l/_MXAGoBGCxYMX
https://dl.doubtnut.com/l/_yFFyShOwpbkk


Answer: D

Watch Video Solution

7. Suppose values taken by a variable X are such that

 , where x_i denotes the value of X in the ith

case, for i=1,2,.... n then

A. 

B. 

C. 

D. 

Answer: D

a ≤ xi ≤ b

a ≤ var(x) ≤ b

a2 ≤ var(x) ≤ b2

≤ var(X)
a2

4

(b − a)2 ≥ var(X)

https://dl.doubtnut.com/l/_yFFyShOwpbkk
https://dl.doubtnut.com/l/_hEZdzRjl2WyF


View Text Solution

8. The average of n numbers  is M. If 

is replaced by x, then new average is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

x1, x2, x3…xn xn

M − xn + x'

nM − xn + x

n

(n − 1)M + x

n

M − xn + x

n

https://dl.doubtnut.com/l/_hEZdzRjl2WyF
https://dl.doubtnut.com/l/_JKXm2lqeoECR
https://dl.doubtnut.com/l/_FSB5idYj9WMQ


9. For a frequency distribution standard deviation is

computed by applying the formula

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

σ = √ −
Σfd

Σf

Σfd2

Σf

σ = −
√Σfd2

Σf

Σfd2

(Σf)2

σ = √ −
Σfd2

(Σf)
2

Σfd2

Σf

σ =



⎷ −

Σfd2

Σf

(Σfd)2

(Σf)2

10. The variance of the first n-natural numbers is

https://dl.doubtnut.com/l/_FSB5idYj9WMQ
https://dl.doubtnut.com/l/_neEw5JoJJ5Oh


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

n2 − 1

12

n2 − 1

6

n2 + 1

6

n2 + 1

12

11. The mean of discrete observations  is

given by

A. 

y1, y2, .... Yn

n

Σ
i= 1

yi

n

https://dl.doubtnut.com/l/_neEw5JoJJ5Oh
https://dl.doubtnut.com/l/_I0w2nnZ3W3A8


B. 

C. 

D. 

Answer: A

Watch Video Solution

n

Σ
i= 1

yi

n

Σ
i= 1

i

n

Σ
i= 1

yifi

n
n

Σ
i= 1

yifi

n

Σ
i= 1

fi

12. If the variance of observations  is.  ,

then the variance of  is

A. 

x1, x2…xn σ2

ax1, ax2. . axn, a ≠ 0

σ2

https://dl.doubtnut.com/l/_I0w2nnZ3W3A8
https://dl.doubtnut.com/l/_qslL88NkQIsV


B. 

C. 

D. 

Answer: C

View Text Solution

ασ2

α2σ2

σ2

α2

13. if in a moderately asymmetrical distribution mode

and mean of the data are  and  respectively, then

median is.

A. 

B. 

6λ 9λ

8λ

7λ

https://dl.doubtnut.com/l/_qslL88NkQIsV
https://dl.doubtnut.com/l/_5gYw9P8ZBVXX


C. 

D. 

Answer: A

Watch Video Solution

6λ

5λ

14. The variance of the data 2, 4, 6, 8, 10 is

A. 6

B. 7

C. 8

D. none of these.

https://dl.doubtnut.com/l/_5gYw9P8ZBVXX
https://dl.doubtnut.com/l/_edtssJ5SFJMk


Answer: C

Watch Video Solution

15. The coefficient of mean deviation is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

mean deviation

mean

mean

mean deviation

standart deviation

mean

mean

standard deviation

https://dl.doubtnut.com/l/_edtssJ5SFJMk
https://dl.doubtnut.com/l/_vaVSKiWfye2c



